RE&mH FR25F5ADEFEAN

A0 110,596 (+27)

5 53,686 (+19)

Z 56,910 (+8)
T 43,993t% (+112)

x () AFRETAL
XA 2558 18RE

Rl AOZX Frk25F5H18

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 422 3 185 1 237 2 181 3
ELH] 211 -6 98 -2 113 -4 75 -2
E=H] 131 -1 60 -1 71 0 58 -1
KEH] 38 0 15 0 23 0 18 0
WNEL] 13 0 4 0 9 0 6 0
] 86 0 37 0 49 0 26 0
Eayestil] 50 0 7 0 43 0 7 0
P L ] 506 1 271 0 235 1 292 1
VR H] 25 0 14 0 11 0 16 0
1 H] 196 1 85 0 111 1 91 0
= =[] 176 -6 96 -3 80 -3 96 -4
] 231 2 116 0 115 2 123 2
ZH] 157 -2 71 -1 86 -1 68 -1
& SHT 483 9 243 7 240 2 236 5
FFrH] 78 0 36 0 42 0 44 0
1GRaH] 109 0 52 1 57 -1 41 0
FASEH] 166 3 80 2 86 1 93 1
—&T 0 0 0 0 0 0 0 0
NET 109 0 52 0 57 0 53 0
T&ET 139 -1 66 0 73 -1 55 -1
N&ET 82 -1 37 -1 45 0 36 -1
NET 164 -1 66 -1 98 0 32 0
T&ET 256 -3 96 -1 160 -2 121 -2
1ok ] 364 2 158 3 206 -1 186 1
SiEH] 2,599 -18| 1,268 -11f 1,331 -7 1,085 1
RFRE] 3,471 21| 1,667 4 1,804 17 1,374 16
] 1,588 -6 783 2 805 -8 579 1
B a)=<tiil) 1,809 -5 932 -4 877 -1 791 -3
FrERHE] 423 1 195 1 228 0 181 1
FHATHT 3,629 28| 1,821 24| 1,808 4 1,604 29
LLAEHT 2,401 2| 1,146 8 1,255 -6 983 8




VEIRH] 2,022 -1 973 -4 1,049 3 641 1
Ll e 4,864 -4 2,390 -3 2,474 -1 1,899 -1
MEigEs] 2,177 10 1,064 8 1,113 2 869 3
EBZRHE] 9,517 12| 4,647 -6| 4,870 18| 3,636 13
=2kH] 3,985 5 1,942 0| 2,043 5( 1,510 -2
[ EHET 1,144 12 591 8 553 4 477 8
EREFHIER — 2,607 -3 1,236 -1 1,371 -2 896 2
EREFHTERS) 1,842 0 885 1 957 -1 657 -2
EREFHT PG 7> 598 5 294 3 304 2 212 2
Er7KH] 5,677 20 2,690 9] 2,987 11 1,958 5
g lii) 167 2 161 2 6 0 158 2
ERH] 23 -1 14 1 9 -2 13 0
ETRE—TH 397 -8 209 -5 188 -3 180 0
ETREIZTH 295 -2 127 0 168 -2 139 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 236 -1 111 0 125 -1 76 0
rES 0 0 0 0 0 0 0 0
TEE—TH 411 -1 193 -1 218 0 186 1
TEEZTH 724 -8 348 -4 376 -4 337 -3
TEE=TH 302 1 148 0 154 1 139 1
WERAT—TH 482 10 223 -5 259 -5 231 -3
RERE—TH 695 -1 320 0 375 -1 331 -1
EE=TH 414 0 208 0 206 0 218 4
EMPRET—T B 327 -2 138 -2 189 0 149 -1
Gl = 500 -3 237 -2 263 -1 241 -2
JtFEILE—TH 180 -2 83 0 97 -2 87 -2
JtFEILETZTH 410 2 189 1 221 1 182 1
A —TH 281 -3 149 -1 132 -2 148 -3
AR —TH 456 5 234 4 222 1 249 4
FEH—TH 132 0 62 0 70 0 57 0
FZHZTH 334 4 155 2 179 2 160 1
[REEIH 312 -1 145 -1 167 0 219 1
wFEE—TH 123 3 61 1 62 2 62 1
RFEE =T H 265 -1 111 -2 154 1 96 -1
RAEI—TH 461 1 211 -1 250 2 177 0
FREIZTH 382 -2 178 -1 204 -1 159 0
RREI=TH 518 1 245 1 273 0 228 -1
FRAFETI T H 405 2 180 2 225 0 164 2
FRETRTH 596 -4 258 -2 338 -2 222 -1
FuRE—TH 214 -4 119 -3 95 -1 104 -2
FUEEI”TH 382 16 224 15 158 1 220 13
HIIEEE—TH 460 2 225 3 235 -1 217 4




HIGEAI”TH 329 -2 153 -1 176 -1 131 1
BRE—TH 155 1 77 0 78 1 79 0
BRI "TH 633 3 297 1 336 2 288 3
BRE=TH 532 -4 271 -4 261 0 229 -2
BEEMTH 246 -4 110 -1 136 -3 103 -2
EEEATH 707 -4 327 -5 380 1 348 0
Kt —TH 297 -3 146 -2 151 -1 130 -2
XK —TH 228 -1 112 -1 116 0 90 -1
AFH—TH 136 -3 66 -2 70 -1 68 -1
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 190 5 94 3 96 2 88 3
TEEIA—TH 672 -4 321 -1 351 -3 244 -1
TEsETFE T H 332 5 154 4 178 1 129 0
TEEAR=TH 397 -2 210 -2 187 0 149 1
TEEIFEM T B 503 5 232 2 271 3 209 3
TEEAATH 636 -3 308 -3 328 0 261 -1
TEEIPRNT B 358 -3 188 0 170 -3 167 0
TEsETFEE T H 656 -7 317 -5 339 -2 303 -4
TEEIFEA\TH 709 11 340 7 369 4 299 5
TERER—TH 1,472 5 703 2 769 3 620 6
THREERTTH 410 0 213 0 197 0 167 0
TEREIR=TH 685 0 329 2 356 -2 280 -1
TEREIERIUT B 1,141 2 551 1 590 1 457 0
TEHREERATH 991 -20 513 -15 478 -5 506 -13
T2REERANT B 560 -4 285 2 275 -6 310 0
TEZRERETH 1,499 11 772 8 727 3 638 2
TARETERNTH 1,215 -3 553 -2 662 -1 568 -1
TEREIRAT B 419 -7 201 -7 218 0 137 -7
TEEIE—TH 88 -3 47 -1 41 -2 71 -2
TEEIEZTH 100 0 67 0 33 0 77 0
4N st 81,734 35| 39,696 25| 42,038 10f 33,605 84
AEH]E 109 -2 47 -1 62 -1 70 0
AEHTA 107 0 54 1 53 -1 60 0
AEHERE 13 1 5 1 8 0 10 1
AREHT/NBR 112 0 51 0 61 0 51 0
AEHKH 10 -1 5 -1 5 0 7 0
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 8 0 2 0 6 0 4 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 445 -2 IR 0 246 =2 244 1
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 0 17 0 21 0 23 0
[1: SHTER S 31 -1 12 -1 19 0 20 0
[LERTEAR 61 -1 30 -1 31 0 33 0
[LSHEHH 25 0 14 0 11 0 16 0
NG9 27 0 17 0 10 0 18 0
[LEE/NFS 34 -4 15 -2 19 -2 14 -2
FEH] 37 0 22 0 15 0 24 0
[ S EEET 326 -6 162 -4 164 -2 197 -2
SUEERSET 771 -8 361 -4 410 -4 441 -1
TR ET [ A _E 1,375 -3 662 -4 713 1 486 1
T2 X T ] EH 721 -1 313 -1 408 0 226 0
&R R 1,259 1 606 2 653 -1 419 1
e 2K T iz E P 1,045 -2 517 0 528 -2 371 2
e 1,365 -6 670 -1 695 -5 456 0
e 1,158 1 544 -2 614 3 423 2
TN ] = AR 3,948 -6| 1,919 -4 2,029 -2 1,422 0
TR X ERET 10,871 -16| 5,231 10[ 5,640 -6 3,803 6
ERILIET_ESREESF 2,119 8 998 2 1,121 6 698 3
ERILIE] RSB 2,626 -13] 1,310 -8 1,316 -5 915 -1
ERILIETER/)N I 2,050 1 1,024 1 1,026 0 787 1
BRI BT PaR T 1,538 8 761 2 777 6 518 1
BRI LI BT iF 1,149 9 568 5 581 4 413 4
ERLLIET) 1R 2,275 -14] 1,121 -5| 1,154 -9 813 -2
ERILIE] R T 5,463 17 2,616 11| 2,847 6| 2,000 17
BRI [X &R 5T 17,220 16| 8,398 8| 8,822 8| 6,144 23
a 5t 110,596 27| 53,686 19| 56,910 8| 43,993 112




